
Lab 4 Due Date:  See Blackboard 
 

Name:  ____________________________________ 
Value:  2 
 
 
 
Find the 1’s complement of each of the following binary numbers: 
 

10112  10102  

11002  10002  

00002  11112  

 
 
Find the 2’s complement of each of the following binary numbers: 
 

10112  10102  

11002  10002  

00002  11112  

 
 
Find the 15’s complement of each of the following hexadecimal numbers: 
 

102Ax  3C98x  

4B7Fx  ED65x  

0000x  FFFFx  

8000x  7FFFx  

CS 1337 – Computer Science II Page 1 
 



Lab 4 Due Date:  See Blackboard 
 

Find the 16’s complement of each of the following hexadecimal numbers: 
 

102Ax  3C98x  

4B7Fx  ED65x  

0000x  FFFFx  

8000x  7FFFx  

 
 

The 10’s complement of 230510 is  

The 2’s complement of 101103 is  

The 5’s complement of 234105 is  

The 4’s complement of 23014 is  

The 7’s complement of 6540007 is  
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